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Дополнения к программе вступительного испытания разработаны с учетом «Особенностей приема на обучение по образовательным программам высшего образования – программам бакалавриата, программам специалитета, программам магистратуры, программам подготовки научно-педагогических кадров в аспирантуре на 2020/21 учебный год» (далее – Особенности), утвержденных приказом Министерства науки и высшего образования Российской Федерации от 3 апреля 2020 г. №547.  Принятие дополнений к программе вступительного испытания обусловлены мероприятиями, направленными на предотвращение распространения новой коронавирусной инфекции (COVID-19) на территории Российской Федерации.

В случае отмены Особенностей дополнения к программе вступительного испытания перестают  действовать.
Содержание вступительного испытания соответствует  «Программе  вступительного испытания по Иностранному языку», расположенной по адресу 
http://abit.omsu.ru/sites/default/files/programma_inyaz_2019_obnovlennaya.docx
Проведение вступительного испытания осуществляется с использованием дистанционных технологий.
При проведении вступительных испытаний университет обеспечивает идентификацию личности поступающего.

При приеме вступительного испытания  с использованием дистанционных технологий устанавливается следующий регламент:

1. Из программы вступительных испытаний исключен раздел I «Аудирование». За счет этого увеличено количество заданий по разделам «Грамматика» и «Словообразование». 

2. Вступительное испытание проводится в виде теста (с закрытыми ответами).

3. Каждому абитуриенту будет предложено 50 вопросов по четырем разделам. Каждый вопрос оценивается в 2 балла.
4. Критерий оценки за каждый вопрос: ответ правильный – 2 балла; ответ неправильный – 0 баллов.

5. В каждом вопросе теста предполагается наличие только одного правильного ответа. 
6. Максимальная оценка составляет 100 баллов. 

7. Время на проведения вступительного испытания в дистанционной форме 90 минут.

8. Запрещается использовать справочные материалы, средства связи и электронно-вычислительную технику (кроме той, которая используется для сдачи вступительного испытания на основе дистанционных технологий).

9. Пример тестового задания:

ОБРАЗЦЫ ЗАДАНИЙ ТЕСТА ПО АНГЛИЙСКОМУ ЯЗЫКУ

 грамматика:

ЗАДАНИЯ 1-11. В предложениях, данных ниже, выберите один из предложенных вариантов ответов A, B, C, или D.

Образец:

1. I’d like to make ________ enquiry about training courses at your college.

	A the 
	B a 
	C an 
	D these


Ответ: 1C

 словообразование:

ЗАДАНИЯ 12–24. Прочитайте приведенные ниже предложения\текст. Образуйте от слов, напечатанных заглавными буквами однокоренные слова так, чтобы они грамматически и лексически соответствовали содержанию предложений/текста. 
Образец:

1. Those chemicals are _____ for the environment. (HARM)

A. HARMING

B. HARMED

C. HARMS

D. HARMFUL
Ответ: 1D HARMFUL
 чтение:

ЗАДАНИЯ 25-31. Прочитайте текст и выполните задания, ответив на вопросы после текста. Выберите один из предложенных вариантов ответов A, B, C или D.

Образец:

Driverless cars


Driverless cars are expected to be rolling into the streets within the next 20 years. In fact, they’ve legally been on the roads for the past years, approved for testing purposes. It is predicted that driverless vehicles will be commercially available at a high cost within 7 years, but it may take another 8 years for prices to drop enough to spur mass  consumption.


Today, the discussions focus primarily on the shifting of accident liability to manufacturers and all the goodness that comes along with reducing accidents. A truly driverless road would not be accident-free as there would still be a number of accidents caused by mechanical or computer errors, weather conditions, pedestrians and sheer random chance. But it would make the now-routine loss of life on the roads far rarer.


The concept of a “driver” will be replaced with that of an “operator”, who simply programs the vehicle’s GPS to arrive at the desired destination and pushes the “Start” button to begin the trip. Since judgment will no longer be required of the operator, they won’t need a driver’s license. Theoretically, a 10-year-old child could independently take the car to school in the morning.


Computer-operated cars will eventually reshape the car design as things like

windshields will become less necessary. Drivers will be able to sit wherever they’d like in their cars. There will be no need for gas and brake pedals as speed will be automatically controlled by the computer. The steering wheel and the turn signal arm can also be eliminated once the public gets used to reliability of these vehicles.


Each passenger will have a personal video display informing about a current

location, the distance to your destination, speed and personal entertainment selections. The concept of ‘distracted driving’ will disappear as there will be no reason to pay attention to where you are going.


Vehicle owners will no longer buy collision insurance since manufacturers will be solely responsible for damage. Owners will only need theft insurance and coverage for hail, falling objects or floods. To take this one step further, personal vehicle ownership may dramatically diminish. Car dealers will have lots full of vehicles for hire on a daily or hourly basis instead of vehicles for sale. When you need a car, you’ll summon one using your mobile phone. The closest unmanned vehicle will be dispatched to your home to take you where you need to go. When done, you’ll simply push the button for the unmanned vehicle to drive itself back to the rental lot. 


The social and cultural impact of driverless cars could cause far more upheaval than any of us could imagine. Perhaps, it would be even greater than the impact the Internet had on commerce and communication. Obviously, the picture being painted is the one that assumes total adoption, which is far from realistic. You will always have transitional delays caused by the lack of free cars, the longevity of today’s vehicles and cultural resistance.


This resembles the historical factors that affected the transition from horse to

the automobile. At the moment, the driverless car seems like a novelty. However, it will open up new prospects. The prospect of flying cars may soon become a reality. With computer-controlled vehicles that strictly follow traffic rules, three dimensional roads become far less scary and more a matter of simply solving the technological challenge.


Where we’re going, we may not need roads at all.

25. According to the author driverless cars will become cheap enough for most people to buy within the following …

A 8 years.

B 15 years.

C 7 years.

D 20 years.
26. Which of the following statements is TRUE, according to the text?
A a driverless car operator won’t be responsible for accidents.

B the age required to operate a driverless car is likely to rise.

C driverless cars may increase the number of road accidents.

D the driverless cars will be voice-activated.
27. To operate a driverless car, their owners will be required to …

A set the destination on the GPS.

B have experience in programming.

C obtain a collision insurance.

D have a special license.

28. Which of the following, according to the author, will a driverless car have?

A Gas and brake pedals.

B A steering wheel.

C Video displays.

D A turn signal arm.

29. The author claims that with the introduction of driverless cars …

A personal vehicle ownership will increase.

B the number of vehicles on the roads will diminish.

C people will rent vehicles instead of buying them.

D vehicle owners will spend more money on insurance.

30. According to the author, driverless cars will be …

A as important socially as the Internet.

B enthusiastically accepted by the people.

C operated without transitional delays.

D used by people with caution at first.

31. The attitude of the author towards the driverless cars may be described as …

A optimistic.

B negative.

C indifferent.

D unsure.

КЛЮЧИ К ТЕКСТУ: “Driverless cars”

25 В 
26 A 
27 A 
28 C 
29 C
    30 D        31 A     


 лексика:

ЗАДАНИЯ 32–50. Прочитайте текст и заполните пропуски словами, данными после текста, выбрав один из предложенных вариантов ответа A, B, C или D.

Образец:

UFOs – DO THEY EXIST?

UFO is short 1 the “unidentified flying object”. UFOs are popularly known as flying saucers, because that is often the 2 they are reported to be. The first “flying saucers” were seen in 1947 by an American pilot, but experts who studied his claim decided it was the 3 of the light. Even people experienced at watching the sky, 4 as pilots, report seeing UFOs.

In 1978 a pilot reported a collection of UFOs off the coast of New Zealand. A television cameraman went up with the pilot and filmed the UFOs. Scientists studying this 5 later discovered that in this case they were simply lights on boats fishing.

	32. A for 
	B as 
	C but 
	D and

	33. A length 
	B shape 
	C size 
	D type

	34. A rule 
	B theorem 
	C trick 
	D width 

	35. A like 
	B that 
	C so 
	D such

	36. A angle 
	B cause 
	C nature 
	D phenomenon 




КЛЮЧИ К ТЕКСТУ «UFOs – DO THEY EXIST?»:

32 A 
33 B 
34 C 
35 D 
36 D
ОБРАЗЦЫ ЗАДАНИЙ ТЕСТА ПО НЕМЕЦКОМУ ЯЗЫКУ

 грамматика:

ЗАДАНИЯ 1-16. В предложениях, данных ниже, выберите один из предложенных вариантов ответов A, B, C, или D.

Образец:

1. Wie lange ___ Sie in Frankfurt geblieben?

A. haben
B. habt
C. war
D. sind

Ответ: 1D
 словообразование:

ЗАДАНИЯ 17–20. Выберите один из предложенных вариантов перевода следующих слов.

Образец:

17. die Bäckerei:

A. пекарня
В. булочница 

С. выпечка
D. булочник

Ответ: 17 A

ЗАДАНИЕ 21 - 24. В каком из предложенных вариантов артикль неправильный?

21. A. das Auditorium
B. das Mädchen 

C. das Kätzchen

D. das Kindheit 

Ответ: 21 D

 чтение:

ЗАДАНИЯ 25-31. Прочитайте текст и выполните задания, ответив на вопросы после текста. Выберите один из предложенных вариантов ответов A, B, C или D.

Образец:

В образце, данном ниже, задания обозначены 1-7

Seit dem Abwurf der beiden Atombomben 1945 auf Japan durch die Amerikaner arbeitete man auch an der friedlichen Nutzung der Atomenergie. So entstanden in den folgenden Jahrzehnten in vielen Ländern Atomkraftwerke. Die bei der Kernspaltung von Uran freiwerdende Hitze erzeugt Wasserdampf. Damit werden Turbinen zur Gewinnung von elektrischem Strom angetrieben. Das ist ein billiges Verfahren. Außerdem wird dabei die Umwelt geschont, während bei der Energiegewinnung aus Kohle und Öl durch den Kohlendioxyd-Ausstoß die Ozonschicht der Luft leidet und dadurch der Klimawandel (Erderwärmung) gefördert wird. 
 Seit den siebziger Jahren wuchs jedoch der Widerstand gegen die Atomkraft. Durch ein Erdbeben, einen Terroranschlag, einen Flugzeugabsturz oder durch eine menschliche oder technische Panne könnte im Atomkraftwerk ein Unglücksfall eintreten.

Durch die dabei austretende Radioaktivität würden tausende von Menschen sterben oder erkranken und ganze Landstriche unbewohnbar werden.  Bei dem bisher größten Kraftwerksunfall von Tschernobyl 1986 geschah genau das. – Außerdem müssen die verbrauchten Brennstäbe, die die Wärme liefern, Jahrzehnte oder länger sicher aufbewahrt werden, da sie noch sehr lange die gefährliche Radioaktivität ausstrahlen.
Die meisten Länder wollen trotzdem an der Atomkraft festhalten. So Frankreich, England, Russland, die USA, China. Nur wenige Staaten, wie Norwegen, Österreich, Italien, lehnen Atomkraft grundsätzlich ab.

In keinem Land ist jedoch der Widerstand gegen Atomkraftwerke so groß wie in Deutschland. Deshalb beschloss 2002 die damalige SPD-Grüne-Regierung den Atomausstieg: die Abschaltung aller deutschen Atomkraftwerke bis 2021. Die derzeitige CDU-FDP-Regierung unter Frau Merkel hielt zwar am Atomausstieg fest, verlängerte aber die Laufzeiten der AKWs wieder bis 2035.

Weite Teile der Bevölkerung reagierten darauf mit starkem Widerstand. Die Atomkatastrophe in Fukushima führte zu einer plötzlichen, radikalen Wende in der Energiepolitik. Die Regierung beschloss die sofortige Abschaltung der älteren AKWs und die Stilllegung aller Atomkraftwerke bis 2022. Die Atomkraft soll bis dahin durch erneuerbare Energien ersetzt werden: Windkraft, Solar-Energie, Biomasse (Pflanzenabfälle).

Ob dieses Ziel erreicht wird, ist sehr fraglich. Große Investitionen, viele Milliarden Euro, wären dafür nötig. Immerhin bezieht Deutschland momentan 22 % seiner Energie aus Atomkraft. Die deutsche Landschaft würde dabei mit einer Vielzahl von Windrädern übersät werden. Starke Hochspannungsleitungen zum Stromtransport müssten gebaut werden. Der Strom würde teurer werden. Das alles stößt bei den Energieversorgern sowie  bei Teilen der Bevölkerung und Industrie   auf  Widerstand.

Diese Ereignisse zeigen zum einen, dass man es nie allen Menschen Recht machen kann. Zum anderen wird deutlich, wie ein einziges Ereignis – das Erdbeben im weit entfernten Japan und die dadurch ausgelöste Atomkatastrophe  in der Politik bewirken kann.

1. …  entstanden in vielen Ländern Atomkraftwerke.

A Vor dem 2. Weltkrieg

B Nach dem 2. Weltkrieg

C 1945

D Während des 2. Weltkrieges

2. Seit den siebziger Jahren …

A wuchs das Interesse der Bevölkerung an der Atomenergie.

B verzichtete man auf die Atomenergie.

C war der Widerstand gegen die Atomkraft immer größer.

D waren die Atomkraftwerke immer beliebter.

3. Tausende von Menschen können bei der Arbeit eines Atomkraftwerkes durch … sterben oder erkranken.

A ein Erdbeben

B einen Terroranschlag

C einen Flugzeugabsturz

D die dabei austretende Radioaktivität

4. Folgende Länder wollen auf Atomkraft verzichten:

A Frankreich, Italien, China

B Norwegen, die USA, Österreich

C die USA, Russland, China

D Italien, Norwegen, Österreich

5. Die deutschen Atomkraftwerke werden dem Text nach … arbeiten.

A bis 2021

B bis 2022

C bis 2035

D immer wieder

6. Welcher Titel passt dem Text?

A Deutschland verzichtet auf Atomkraft

B Die friedliche Nutzung der Atomenergie

C Unglücksfälle im Atomkraftwerk

D Die Energiegewinnung

7. Was entspricht dem Inhalt des Textes nicht?

A Bei der Energiegewinnung aus Kohle und Öl leidet die Ozonschicht der Luft.

B Die Atomkraft kann durch erneuerbare Energien ersetzt werden.

C Deutschland bekommt 22% seiner Energie aus Atomkraft.

D Die meisten Länder  wollen auf die Atomenergie völlig verzichten.

КЛЮЧИ К ТЕКСТУ: 1B, 2C, 3D, 4D, 5B, 6A, 7D
лексика:

ЗАДАНИЯ 32–50. Прочитайте текст и заполните пропуски словами, данными после текста, выбрав один из предложенных вариантов ответа A, B, C или D.

Образец:

В образце, данном ниже, задания обозначены 1-5

 Ein Herr sagt zu einem Mieter (квартиросъемщик), der über ihn wohnt: "Sie wecken mich jede Nacht, wenn Sie Ihre Schuhe ausziehen und sie auf den Fußboden 1 . Ich bin nervös und kann nicht weiter einschlafen."

"Verzeihen Sie,“ antwortet der Andere, "das soll nie wieder 2 ." In der nächsten Nacht fällt der erste Schuh des Mieters laut auf den Fußboden. Der Mieter erschrickt und stellt den zweiten Schuh 3 hin. 4, 5 an die Tür und der nervöse Herr sagt: "Bitte, ziehen Sie doch den zweiten Schuh auch aus, damit ich endlich schlafen kann."

1. A. fallen

C. werfen

B. finden

D. auffallen

2. A. vorkommen

C. gehen

B. wiederholen

D. zurück kehren


3. A. richtig

C. beachtlich

 B. vorsichtig

D. merklich

4. A. über drei Stunden
C. nach drei Stunden

B. vor drei Stunden
D. gegen drei Stunden

5. A. klopft es
C. kommt es

B. schlägt es
D. öffnet es

КЛЮЧИ К ТЕКСТУ: 1C, 2A, 3B, 4C, 5A
ОБРАЗЦЫ ЗАДАНИЙ ТЕСТА ПО ФРАНЦУЗСКОМУ ЯЗЫКУ

ГРАММАТИКА:

ЗАДАНИЯ 1-11. В предложениях, данных ниже, выберите один из предложенных вариантов ответов A, B, C, или D. 

Образец:

1. Il est parti en Bretagne ________ dix ans.

A) dans

B) il y a

C) pendant

D) par




ОТВЕТ: 1B
 словообразованиЕ:

ЗАДАНИЯ 12–24. Прочитайте приведенные ниже предложения/текст. Образуйте от слов, напечатанных заглавными буквами однокоренные слова так, чтобы они грамматически и лексически соответствовали содержанию предложений/текста.
Образец:

1. Ils _ beaucoup. (TRAVAIL)

A. TRAVAILLENT

B. TRAVAILLER
C. TRAVAILLÉ
D. TRAVAIL
Ответ: 1 A. TRAVAILLENT
чтениЕ:

ЗАДАНИЯ 25–31. Прочитайте текст и выполните задания, ответив на вопросы после текста. Выберите один из предложенных вариантов ответов A, B, C или D.

Образец 

Nicolas Chopin, professeur de musique

§ 1. Un jour de 1816, Monsieur Nicolas Chopin, professeur au lycée de Varsovie, est revenu de la ville en compagnie d'un personnage assez singulier.

– Ma chère amie, – dit-il à sa femme Justina, – je te présente Monsieur le professeur Zywny.

Le nouveau venu s'est incliné. C'était un homme d'une soixantaine d'années, grand, voûté, assez maigre; ses vêtements étaient à la fois pompeux et ridicules, assez mal tenus. Justina a répondu aimablement à son salut et jeté un rapide coup d'œil sur ses enfants: à côté de Ludwika et de Frédéric, qui avaient maintenant neuf et six ans, Isabelle – cinq ans et Emilia – quatre ans, tous se tenaient sagement debout, les yeux sur l'étrange bonhomme.

§ 2. Chaque fois que Justina regardait tout son petit monde, elle se réjouissait. Que de chemin parcouru depuis que, parente pauvre d'une noble et riche maison, elle avait rencontré cet homme ambitieux, mais courageux et bon, qui lui avait donné un foyer, une famille. En 1814, on a confié à Nicolas la direction de la section de la littérature française au lycée où il enseignait. Mais son traitement n'était pas très élevé pour vivre. Justina avait toujours travaillé et maintenant elle aidait volontiers sa servante à faire des lits et à préparer les repas.

§ 3. Zywny parlait aux enfants et ils l'écoutaient les yeux ronds:

– Ah, mes amis, le professeur de piano et de violon que vous avez devant vous a vécu, en d'autres temps, dans les honneurs! Savez-vous que j'ai été pianiste à la cour d'un roi? Savez-vous que j'ai été chef d'orchestre? Savez-vous enfin que j'ai composé des arias, des fugues, des symphonies? Hélas, je dois gagner ma vie et je gagne en donnant les leçons de musique. Mais je me console avec Jean-Sébastien Bach et Wolfgang Amadeus Mozart … Dis-moi, mon garçon, – s'adressa-t-il à Frédéric, – est-ce que tu connais Jean-Sébastien Bach? Et Mozart, le connais-tu? Frédéric restait à bouche ouverte; ses sœurs éclatèrent de rire. 

– Je te les ferai connaître, mon enfant. Et je te les ferai aimer, je te le promets. 

§ 4. Frédéric a quitté le groupe qu'il formait avec ses sœurs et marché droit au piano, l'a ouvert, a exécuté un accord, puis un autre, un autre encore ... L'enfant semblait transfiguré; son visage pâlissait, ses grands yeux sombres brillaient … Soudain, il s'est arrêté, a rougi et s'est éloigné de l'instrument. Zywny lui a posé la main sur l'épaule:

– Ce n'est pas mal du tout, mon garçon! Mais où as-tu pris ce que tu viens de jouer? Je n'ai jamais entendu cette musique.

– C'était une musique que j'avais dans la tête, Monsieur, – dit Frédéric tout bas, en baissant le nez comme s'il était coupable. 

– Alors, c'est encore mieux, – dit Zywny. – Savez-vous, Monsieur Chopin, que votre fils a le talent d'un grand pianiste et peut-être il deviendra un bon compositeur.

25. В какой части (§) текста выражена следующая мысль: «Zywny a compris que Frédéric avait un vrai talent de musicien».

A) § 1.
       B) § 2.

C) § 3.

D) § 4.

26. Какое из суждений соответствует содержанию текста:

A) Frédéric a faim.



B) Frédéric a du talent.

C) Frédéric a sommeil.

D) Frédéric a soif.


27. Le père de Frédéric était _________.

A) professeur de musique

C) professeur de littérature

B)   chef d’orchestre

D) pianiste
28. Порядок следования суждений

1. La mère de Frédéric travaillait toujours. 

2. Le professeur Zywny continue à vivre par la musique.

3. M. Zywny a dit que Frédéric pourrait être un bon compositeur.

4. Le professeur Zywny n'a pas reconnu la musique que Frédéric a jouée.


в тексте такой: 

  A) 1243

 B) 1234

  C) 2341
 D) 3124

29. Combien d’enfants y a-t-il dans la famille de Nicolas Chopin ?

A) deux

B) trois

  C) quatre 
 D) cinq 

      30.  Les enfants écoutent leur professeur.

         A) distraitement     
B) attentivement   C) beaucoup    
 D) peu

      31. L’action se passe:

         A) au XIX siècle   
B) au XVI siècle    C) au XVII siècle   D) au XVIII siècle   

Ключи к тексту «NICOLAS CHOPIN, PROFESSEUR DE MUSIQUE»: 

25 C, 26 B, 27 A, 28 A, 29 C, 30 В, 31 А

лексика:
ЗАДАНИЯ 32–50. Прочитайте текст и заполните пропуски словами, данными после текста, выбрав один из предложенных вариантов ответа A, B, C или D.

Образец. 

Apprenez une langue étrangère

 Le mieux c'est d'aller vivre dans le pays avec les habitants. Là vous apprendrez vite. Il faut trois ou quatre mois pour comprendre et pour commencer à _ 32_. Au bout d'une année vous comprenez presque tout et vous pouvez dire ce que vous voulez, un peu simplement, mais vous parlez. Bien sûr, si vous suivez des cours, vous apprendrez mieux et plus rapidement. Même dans le pays c'est bien d'avoir _ 33_. Chez vous, dans votre pays, c'est aussi possible d'apprendre une langue étrangère, mais il faut du temps.

D'abord, il faut écouter de petits enregistrements et regarder des films si c'est possible. Il faut essayer de comprendre. Quand vous ne comprenez pas, ne demandez pas la traduction. C'est mauvais. Au contraire, essayez de découvrir vous-même ce que ça veut dire. C'est souvent possible. Écoutez vos enregistrements pour _34_  les dialogues. Ensuite, essayez le plus souvent possible de réutiliser les phrases que vous avez comprises en faisant des jeux de rôles _35  vos copains. Plus vous pouvez réutiliser des phrases en situation, plus vous gardez en mémoire les phrases apprises. Amusez-vous aussi à lire des petits textes dans _ 36    que vous apprenez. 

32. A) parler
B) danser
C) être
D) avoir

33. A) un chat
B) un chien
C) un professeur
D) un élève

34. A) venir 
B) donner
C) voir
D) apprendre 

35. A) sur
B) avec
C) sous
D) dans

36. A) la politique 
B) la langue
C) la science
D) l’économie 

Ключи к тексту: «APPRENEZ UNE LANGUE  ÉTRANGÈRE»: 32 A, 33 C, 34 D, 35 B, 36 B.

